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a-b=1x342x(—=1)+3x2=7 %7, |a|=/P+2+F=/14 |b|=y3+(—1)+2=/14
@b Tl echi kh) 0=60°
cos0 \ZHZI LAl 2 0°=60=180° & V), =60
W& 7 729 0=60°

=(1, =2, 2), b=(3, 4, —5)
D=1X3+ (—2) X44+2X (=5)=—15  F#, |a|=vVIP+(=2)°+2=3  |[b|=VF+L+(=5)°=5/2

—15 1
0= =— °<0<180° £ V), 0=135°
cos SX5/ 2 72 0°=0=180° &) 135

g -15 3 0=135°

(2, —1, x), 6=, x, ) DEE, RD2ODNRY FHEREL AL LI x OfizED L, (B105x2)
. b
1b < a-b=0
a-b=2x3+(—1)Xx+xX4=3x+6 &V,
3x+6=0 x=-2

H
a4

IR

(2) @ a—2b
al(a—2b) = a-(a—2b)=0
a—2b=(2, —1, x)—2(3, x, 4)=(—4, —1—2x, x—38)
a-(a—2b)=2%(—4) +(—=1) X (=1—2x) +x X (x—8) =x’—6x—7
xX2—6x—7=0&Y, x=-—1, 7 x=-—1, 7
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(1] 4#A(2), B(b), C(¢), D(d) # T &+ 2MEKRABCDIZBWT, BAB% 1: 2124 T 5 M%P(h),

ABCDOELZEG(g) EF 2, DL X, ROEDIIENY NV E KD X, (&10 % 4)
(1) #P(p) (2) M CP%3: 21200 F%Q(q)
9—21a-|—-|_2b 2a?:|-b %;+%Z o —9¢ +3<2a+b> L
q= 39 =2a+b—2c
p=Fa+yh G=ta+B—%
(3) 1HG(g) (4) MFAG% 3 LIZHST 2R
o= =Y byt (") e
- 17,1>,15 sl R T T
g=§bj—€c-l;§d =%Z+%g+% +%2 r=za+gl:+zcizd
(5=b+§+d> <;=a+ 1—0+d)
(2] 48AQ, 2, 4), B3, 1, 5), C0, 4, 1), D(x, 3, D2A—PH LICh b L X, FEHx Ofizkd L,
(108)
AD=(x—1, 1, —3), AB=(2, —1, 1), AC=(—1, 2, —3)
AD=aAB+BAC £ B5ES o, BHHBND,
(x—1, 1, =3)=a(2, —1, 1)+B8(—1, 2, —3)=(2a—pB, —a+2B, a—3pB)
£, 20—B=x—1 --@ —a+2p=1 @ a—3=-3 --®
@, @&V, a=3, B=2 DOIXRKAT B &, x=5 x=5
(3] koMWwIEZ ko (£1055 x5)

(1) LA (2, —4, 5)T, PED 6 THLEREOF X ERKD Lo
(x=2)*+{y— (—4)}+ (z—5)*=6
Thhb, (x—2)*4+(y+4)°+(z—5)*=36
(x—2)2+ (v+4)2+ (z—5)*=36
(2) MAG, 4, DEEY, d=(1, 3, —2) CEAAEGOHBRRNE, BAEK MO THEE, 72, (2HE
LCHEONEEBRO RN EZRD L,
(x, » 2)=, 4, )+t(1, 3, —2) <«—p=a+td
=(3+¢, 4+3t, 1-2t)

£f, (¢=)x—3=Y71=2"1 x=3+t
y=4+3t y—4_ z—1
BEA S B FER 2=1-2t it R A R

(3) HA(—1, 4, 2)%@EY, n=(2, 3, —2) CEEAFHOHBRE KD L, F72, SOFME x fil e D%
DB KD X o
FEEDEEOEEP(x, 3, 2)ETHE, AP=(x+1, y—4, 2—2)
nAP=0 &V, 2(x+1)+3(y—4)—2(z—2)=0 ThbbE, 2x+3y—22=6
chiZy=0, z=02KAT5E, x=3
x B E DT EDEER, (3, 0, 0) FH 2x+3y—22=6 &&H (3, 0, 0)
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